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wE TR AR

O = (A)FN B (12 » )
O= 2 (B)f2; % (3 4)
Gz 2 (C)fe: 7 (3 4)
@=% = (D)f2: 5 (4 4 )
@= X (E)ENH (34)

import java.util.InputMismatchException;
import java.util.Scanner;
public class JP2 {
public static long catalan(int n) {
(A)
return sum;
}
public static void main(String[] args) {
Scanner scanner = (B)
int n;
try {
n = scanner.nextInt();
(O
System.out. prlntln("ﬁ;%»n LE1");
scanner.close();
return;

} catch (InputMismatchException e) {
System.out. prlntln("ﬁ;»»z g£21");
scanner.close();
return;

}

(D)

System.out.println((E) + result);

scanner.close();
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siRypL T CAREE 0 W F TSR AR

O6~12 A B/ (44)

@ 13~17 R B (4 4)
= 19~29 B (74)
@ 30~32 FAEN B i (24)
(B 33~41 FA e (4 4)
N 42~45 FHe e (2 4)
(D) 46~49 RN B (2 4)

1 |=Zinclude <stdio.h>
| | Zinclude <stdlib.h>
| | #include <string h>

W o

5 #define MAXWS 100
6 | =intcl(const char® s1, const char* s2) {
7 ‘ £ while (®s1 && *s1 =*352) {
8 sl++;
9 | s2++;
10 |[ }
11 || retumn *sl - *s2;
12 |}
13 |=int c2(const char* s) {
14 “ intlen=0;
15 while (s[len]) len++;
16 || retumn len;
17 113
18 | =int main() {
19 || char** words = malloc(QMAXWS * sizeof{char*));
20 || intcount=0;

21 char buffer)MAXWLY];
22 = while (1) {
23 | if (fgets(buffer, MAXWL, stdin) == NULL) break;

24 buffer[strcspn(buffer, "n")] ="0";

25 if (buffer[0] == "0") break;

26 | words[count] = malloc(c2(buffer) + 1);
27 | strepy(words[count), buffer);

28 | count++;

29 }

30 |= for(inti=0;i< count; i++) {

31 | printf{"Word: %s, Length: %dn", words][i], c2(words[i]));
32 |}

33 :iii for (inti=0; i < count - 1; i++) §

34 ::;' for (int j=0; j <count - i - 1; j++) {
35 = if (c1(words[j], words[j + 1]) > 0) {

36 | | char* temp = words[j];



37
38
39
40
41
42
43
44
45
46
47
48
49
50

51

words[j] = words[j + 1];
words[j + 1] = temp;
}
}
}
printf{" Sorted words:'n");
for (int i = 0; i < count; i++) {
printf{("%s'n", words[i]);
}
for (int 1 = 0; 1 < count; i++) {
free(words[1]);
}
free(words);
return 0;

% 58 144850
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= ~ RFE LT Python 425578 > w F T SR AE

O 2~8 7R /A w (44)

©10~12 A B (34)
@ 14~15 FaEi B (445)
(@ 17~20 7R B (44)
(B 22~24 A2+ (3 4 )
N 26~29 TR i (4 4)
(0 31~32 FA e (34 )

(U RLF R OSSeLLE )
-
X-appena(r)
orint(“EEATEE:")
for r in x:

print("".join(f"{x:5d}" for x in r))

sdm = sum(x[i][2 - i] for i in range(3))
print(f“sdm: {sdm}")

y = [[@] * 3 for _ in range(3)]
for i in range(3):

r j in range(3):

y[jl[2 - i]

x[1][3]

print("EE®ER ")
rriny:
print("".join(f"{x:

r i, r in enumerate(y):
rs = sum(r)
ra = rs / len(r)
print(f"R{i}: 1
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o~ kPR LT CHAR A 0w BT SRR
) 6~19 B (94)
() 20~31 FAE i (8 4 )
ErErHNEE LR (84)

1 | using System;
2  =namespace CSP4
3

L0 fEeE
4 2. class Program
5 {
L1 ESE

6 |3 . static bool CSP4_I(int X)

7 4

8 | if (x <0) return false;

9 - intL=0,R=Xx;
10 'a ©  while(L<=R)
11 B
12 S intM=L+(R-L)/2;
13 | longS=(long)M * M;
14 | if (S==x) return true;
15 - elseif(S<x)L=M+1;
16 || @ @ elseR=M-1;
17 b}
18 || ' | return false;
1o [}

L1 Ee®

20 = . static long CSP4_2(int n)
21 ||
22 ~ if (n<=1) return n;
23 || ' longa=0,b=1;
24 |2 for(inti=2;i<=n;i++)
25 AR |
26 | longtemp=a+b;
27 L a=b;
28 - b=temp;
20 || 00}
30 . returnb;
31 0| )
32 = static void Main()
33 A
34 int[] arrays = { 9, 10, -4 };
35 |3 foreach (var n in arrays)
36 || {
37 - Console.WriteLine($"{n} is CSP4_1? {CSP4_1(n)}");
38 ; . Console.WriteLine($"CSP4_2({n}) = {CSP4_2(n)}");
39 ||| }
40 : }
41 }
42 }



